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Topic:- General English

1) Out of the given four sentences, choose the one which is grammatically
correct.

1. The children drew pictures of their families on a white sheet
2. The children have drew pictures of their families in a white sheet
3. The children had drew pictures of their families by a white sheet

4. The children has drew pictures of their families on a white sheet

Correct Answer :-

« The children drew pictures of their families on a white sheet

2) Out of the given four sentences, choose the one which is grammatically
correct.

1. He has been teaching in this school for the past three years
2. He has been teaching for this school since three years
3. He have been teaching in this school from three years

4. He have been teaching in this school for three years

Correct Answer :-

« He has been teaching in this school for the past three years

3) Out of the given four words only one is spelt correctly. Find the word that
is correctly spelt.

1. Pavillione

2. Paasttime



3. Possession

4, Peice

Correct Answer :-

« Possession

4) Out of the given four words only one is not spelt correctly. Find the word
that is not correctly spelit.

1. Vicious
2. Incredible
3. Horrific

4. Irreseestable

Correct Answer :-

« Irreseestable

5) DIRECTIONS: Fill in the blank with the correct Preposition.
Pour some cream the soup and serve it warm.

1. beyond

2. over

3.among

4. beneath

Correct Answer :-

6) DIRECTIONS: Fill in the blank with the correct Preposition.
The reading of the thermometer reached the red mark.
1. from

2. with

3. below

4. of

Correct Answer :-

« below



7) DIRECTIONS: Fill in the blank with the correct article.
Ganges is a holy river.

1. An

2. The

3. No article required

4. A

Correct Answer :-

« The

8) DIRECTIONS: Fill in the blank with the correct article.
Itis unique watch.

1. No article required

2. the

3.an

4.a

Correct Answer :-

9) DIRECTIONS: Out of the given four options, choose the correct
conjunction to fill in the blank given in the sentence.

She thought she might be late, she arrived on time.

1. but
2. 0r
3. neither

4. else

Correct Answer :-

« but

10) DIRECTIONS: Out of the given four options choose one to join the two
sentences given below to make a meaningful sentence.

I almost missed my flight.



There was a long queue in the duty-free shop.
1. Because

2. Although

3.0r

4. Despite

Correct Answer :-

« Because

11) DIRECTIONS: Out of the given options, choose the most appropriate one
to fill in the blank.

I waited all evening in the fond hope that he call.
1. might have

2. ought not to

3. should have

4. might

Correct Answer :-

12) DIRECTIONS: Find the word which can be replaced for the given
sentence.

A person who pretends to be what he/she is not.
1. Altruist

2. Hypocrite

3. Atheist

4. Theist

Correct Answer :-
» Hypocrite

13) DIRECTIONS: Find the word which can be replaced for the given
sentence.

One who settles in another country.

1. Immigrant



2. Versatile
3. Teetotaler

4. Cosmopolitan

Correct Answer :-
« Immigrant

14) DIRECTIONS: In the given sentence there might be an error. Find out
which part of the sentence has an error. If there is no error, mark your
answer as (d) i.e. ‘No error’.

He came back (a)/ from office at midnight (b)/ did he? (c)/ No Error (d)
1. (a)
2. (b)
3.(d)
4. ()

Correct Answer :-

15) DIRECTIONS: In the given sentence there might be an error. Find out
which part of the sentence has an error: If there is no error, mark your
answer as (d) i.e. ‘No error’.

The richest people (a)/ are not always (b)/ happiest. (c)/ No Error (d)
1. (a)
2. (b)
3.(d)
4. (c)

Correct Answer :-

16) DIRECTIONS: A sentence with an underlined idiomatic expression is
given. What is the meaning of the idiomatic expression part and parcel in the
sentence given below?

Being recognized on the street is part and parcel of being a celebrity.

1. None of the above



2. to be unknown
3. an essential part of something

4. to be receiving gifts and parcels

Correct Answer :-

« an essential part of something

17) DIRECTIONS: A sentence with an underlined idiomatic expression is
given. What is the meaning of the idiomatic expression ‘in the same boat ‘in
the sentence given below?

Jane and Mary are both in the same boat. They have been called for jury
duty.

1. None of the above
2. to be opposed to each other
3. to be in the same situation, or having the same problem

4. to be in altogether different directions

Correct Answer :-
« to be in the same situation, or having the same problem

18) DIRECTIONS: A sentence with an underlined word is given below. Find
the Word which is most similar in meaning to the underlined word.

I found him rude and uncooperative.
1. sophisticated

2. mannered

3. polite

4, impolite

Correct Answer :-

« impolite

19) DIRECTIONS: A sentence with an underlined word is given below. Find
the word which is opposite to the highlighted word from the given options.

Many teenagers are surprisingly ignorant about current politics.
1. indecisive

2. aware



3. negligent

4, forgetful
Correct Answer :-
e aware

20) DIRECTIONS: A sentence with an underlined word is given below. Find
the word which is opposite to the highlighted word from the given options.

There has been a hostile reaction to the government's proposed tax
increases.

1. bitter

2. revengeful

3. friendly

4. unfriendly
Correct Answer :-
« friendly

Topic:- General Science

1) Air tube of an insect is called-/ ®Iel H} arg el Hgar 8-
1. Pharynx/ 99+t

2. Gills/ i

3. Spiracle/ HR#

4. Larynx/ 3

Correct Answer :-
« Spiracle/ HRR¥

2) Which component of soil gets deficient due to excess supply of water?/

HET $1 S UTH od P it TYfef F SR YA a1 2

1. Air/ d1g
2. Minerals/ ECIE ]
3. Manure/ dlg

4. Nutrients/ L)



Correct Answer :-

3) The normal temperature of human body is-/ W%WWWW@W%—
1. 38°C

2.98.4°C

3.35°C

4. 37°C

Correct Answer :-

« 37°C

4) Ditches made betweep the two rows of a crop are called as-/ Wﬁ?ﬁ@f
FHARI & Ay gAY Tl Aiferat s 8-

1. Line/ goft
2. None of the above/ SRIgd 7 I dﬂ{%ﬁ
3. Canal/Afcr®T

4. Furrow/ 11

Correct Answer :-
e Furrow/ Il

5) The formula which represents the simple ratio of atoms in a compound is

called-/ 7, 5 fob e & wRuTops &1 WRe srguTd UeRid Hvar 8, Hearr -

1. Rational formula/ 3fuifcd G
2. Molecular formula/ U[gA

3. Structural formula/ =T g3

4. Empirical formula/ Gaurdl I

Correct Answer :-

« Empirical formula/ Fegurdl g2

6) Earth always pulls everything towards it due to-/ q?ﬁﬁﬂ-ﬁiﬂﬁﬁgﬁ?ﬂm
IR Giad g1 T e 99 & SR BT 6-

1. Mechanical force/ Tif3® 9@



2. Electrostatic force/ﬁ'g??l?raﬁ
3. Gravitational force/ =g &

4. Muscular force/ QRING 9

Correct Answer :-

« Gravitational force/ =i &l

7) Which of the following is a good conductor of electricity?/ fRgd 3 H9
fagaa &1 erss1 TTa® 82

1. Chalk/ Tid

2. Steel spoon/ EId & THd
3. Wood/ Flﬁ

4, Dry air/Y[&b gdl

Correct Answer :-

« Steel spoon/ & &I g7

8) Which of the following is also called ‘marsh gas’?/ g A 9 f5a i i i

®Ed ©:

1. Carbon dioxide/ ®Ta T8 RS

2. Sulphur dioxide/ TR T3 S

3. Methane/ AYT

4. Chlorofluoro carbons/ FARTFAR! STa

Correct Answer :-

« Methane/ B34

9) Rusting takes place in-/ S @ IWH glaT g |
1. Moisture-free air/ arg G T4

2. None of these/ Eﬁﬁaﬁéﬂﬁ

3. Moist air/ TH dIg

4. Air-free moisture/ =4t Had dig

Correct Answer :-

« Moist air/ THdY



10) The rainbow that appears in sky after the rains is caused by the

of light by water droplets present in upper atmosphere./ a9 & g5, 3TIAME H
feaTs 39 ara 5= ugu IYHvST W IUFRIA oA B g1 WR TS o1 fory ufvge
& HRUTEIAT 3|

1. Refraction of light/ TeT=I &1 3[Udc

2. Dispersion of Iight/umﬁﬁéﬁw
3. Reflection of light/ U= &I TRIad-

4. Polarization of light/ UHIRI &1 Ydul

Correct Answer :-

« Dispersion of Iight/mﬁﬁéﬂw

11) The sound waves travel the slowest in-/ ¥ a3 A9 Arenw & Gad ¥ Tt
%’.

1. Moist air/ 3(Ts gal |

2. Liquid water/ &d U=l &

3. Ice/ §h |

4. Dry air/ < gar #

Correct Answer :-

e Dry air/{[&ﬁgfﬂff

12) An electrolyte is-/ & fagad 3rueey 8-

1. A metal/ & Ui
2. None of these/%’qﬁ@aﬁs‘ﬁ

3. A liquid that conducts eIectricity/Wﬂ'q’\_yﬁ YRT T B Tbdl §

4. A light electric cell/ Ts UebT=I fagad I

Correct Answer :-

. A liquid that conducts electricity/ Te &4 S YRT 7T B Jbdl &
13) Saliva has the enzyme-/ Wﬁﬁﬁ'ﬂﬁﬂ%—

1. Trypsin/ﬁjaﬂ

2. Rennin/ X4



3. Ptyalin/ erafe
4. Pepsin/ﬁlﬁq

Correct Answer :-

« Ptyalin/ T@feH

14) According to IUCN red list. What is the status of red panda (Ailurus
fulgens)?/ IUCN QTd Tl & AR AT UTUST (TegRy Ba-0) & w1 fRAfa 32

1. Endangered species/ & cIRd Sllfd
2. Extinct species/ ﬁ@ﬂ\‘rﬂﬁ
3. Vulnerable species/@‘@fﬂﬁlﬁ

4. Critically endangered species/ﬁlﬁ?ﬂmaﬁ

Correct Answer :-

« Endangered species/ IHeIRkd Sllfd

15) In which of the following processes light is absorbed?/ fgfifaad & d F14-
T UhH H UHT BT SaNYT giaT & |

1. Photosynthesis/ U= TRAYT
2. Sublimation/ 3¢dUrdd
3. Rusting/ ST &¥

4. Burning/ Sl

Correct Answer :-

« Photosynthesis/ TR HXHOT

16) Penicillin is an:/ UfR¥ 2 T&-
1. Vitamin/ﬁET&Fr

2. Hormone/ g

3. Antipyretic/ GIERSESIE]

4. Antibiotic/ Hfteifae®

Correct Answer :-

. Antibiotic/ Ufowifaes



17) Density of ice is-/ I $1 99 gldT o-

1. Less than water/ 5Td ¥ &H

2. Cannot be said/ &gl ol ol &bdI
3. More than water/ 9@ ¥ 3{fd%

4. Same as water/ 9d & JHM

Correct Answer :-

« Less than water/ 5@ 4 &H

18) The smallest organelles in a cell are-/ PIRAST A G BleT HIRASI 8-
1. Peroxysomes/ R

2. Ribosomes/ Jgar M

3. Lysosomes/ GIECSI I
4. Spherosomes/ THRINIH

Correct Answer :-

« Spherosomes/ THEH

19) In an electrolyic cell, the electrode which is connected to the positive

terminal of a battery is called-/ T®% fagad 3iuvey A9 H, 98 sadels ford, dedt &
YT cfiTa A Faiford fopar sirar @, 39 $ed &-

1. None of these/ 378 ¥ ®Ig gl

2. Anode/ﬁ:ﬁT‘s’
3. Cathode/ GI)

4. Antinode/ Q%‘I#IS

Correct Answer :-

« Anode/UHIS
20) Air moves from a region of pressure to a region of
pressure./ I JEYARA__ e Ft iR e R

1. Low, high/ g, 3=
2. Low, low/ Mg, 19
3. High, low/ 3, A9

4. High, high/ 3=, 3=



Correct Answer :-
« High, low/ 3=, A9

Topic:- General Knowledge

1) How many agro-climatic zones are there in Madhya Pradesh?/AsaUc® #
fra pY-Saarg &1 82

1.13
2. 11
3.10

4.12

Correct Answer :-

2) In which year was the Burhanpur district created? / SRR forar fow ara
wyTfta faar mar 412

1. 2006
2. 2004
3. 2005
4. 2003

Correct Answer :-
« 2003

3) In which year was the IT Department of BHEL, Bhopal declared Winner for
Excellence Award in e-Governance initiatives in Madhya Pradesh? / ﬂ?r, e

& gt fAurT o1 fre adf ¥ weg wexr A 3-7T9-19 Ugdl § Spyal REPR faorar aifva faar
T UT?

1.2012-13
2.2013-14
3.2014-15

4. 2015-16

Correct Answer :-

« 2012-13



4) In which of the following districts is the maximum number of fairs held?/

Frafafea ford # & siftrean al ST smaifora = &Il 32
1. Hoshangabad / BI=ITETE

2. Bhopal/‘l-hTTIFT

3. Ujjain / I&H

4. Ratlam /XddH

Correct Answer :-
. Ujjain / I=iH

5) Who is the Captain of the Madhya Pradesh state ODI team?/ e TSR
ANSreE HM & FwE P 82

1. Naman QOjha/ W&ﬁgﬂ

2. Shubham Sharma/ HH M

3. Aditya Shrivastava/ 3flfacd farxd
4. Anand Bais/ < o9

Correct Answer :-
« Naman Ojha/ T 3=

6) Which of the following commissioned a 600 MW thermal power plant at

Jhabua?/ frufafad & 3 fram srgan & 600 Avmare amd fagaa o= arq fear 32
1. BHEL/ ¥

2. None of these/ 's{tl'ﬁﬁaﬁ'scﬂﬁ

3. ONGC/ 3Iusird

4. NTPC/ TciUrdt

Correct Answer :-

« BHEL/ ¥d

7) Which of the following rivers of Madhya Pradesh is the third longest river
of India that flows entirely within the country?/ﬂwm?ﬁﬁ'ﬁﬂﬁﬁﬁﬁ HRd
Pt TR T T A BIF- W g, o YR S & 3T T8l 82

1. Betwa / 9ddl



2. Narmada /Hﬁ'c{r
3. Godavari / Mera
4. Mahi / |18

Correct Answer :-

« Narmada /:ﬂffa'[

8) Which of the following districts is called the ‘Gateway to Southern India’?

/ FraE 3 B9 A R 3t eféor yRd $1§R" Se1 91 82
1. None of these / 3TH A &Is gl

2. Khandwa / @&di

3. Alirajpur / 3{dRTSTQR

4. Rewa / 3far

Correct Answer :-

« None of these/%ﬂﬁ@faﬁgﬁ

9) Where is the Hoshang Shah’s tomb? / BIRTIT XS BT HPHaRT Bl 82
1. Chanderi / ELEd]

2. Hoshangabad / BI=ITETG

3. Bhopal / Hara

4. Mandu / H1g

Correct Answer :-

« Mandu / #Ig

10) Which is the famous fabric of Madhya Pradesh, the advent of which can
be traced to Ala-ud-din-Khilji in the year 1305 AD?/ A% Ul &1 URIE HUST
P-4 8, Forge! Saf F af 1305 s9dt A srarsfeA-Radsit &1 uar avmar o godr 82

1. Chanderi/ ELSY]

2. Chikenkari/ IRt
3. Kosa/ @4l

4. Zaridosi/ SReN

Correct Answer :-



« Chanderi/ T3}

11) Which musical-instrument is Baba Allauddin Khan associated with? /dTdl

SeSE I @ fPg Tl ar aa A 92 82
1. Sitar/ RIdR

2. Esraj / SIS
3. Sarod / WRIg

4, Tabla / dddl

Correct Answer :-

. Sarod/ﬂ“\fla

12) Originally how many temples were there at Khajuraho? / %Wﬁ"@ﬁ?‘lﬁ
#fpar dfer &2

1. 86

2.84

3.85

4. 83

Correct Answer :-

13) During the Revolt of AD 1857, till which date was the Fort of Dhar kept in
the possession of the freedom-fighters? /1857 334l & fagig & &=, Wad=dl
AT & Fool H YR FT fovett fvd I a& u1?

1. 315t December, 1857 /31- di fauwR, 1857
2. 315 October, 1857 /31- di 3{agaR, 1857

3. 30t September, 1857 / 30-ai RIdwR, 1857
4. 30" November, 1857/ 30- df AR, 1857

Correct Answer :-

« 315t October, 1857 /31- @i 3fdceR, 1857

14) The BRICS Convention of Tourism was held at Khajuraho in the year:/

oo S=a= 3w gieved fore adf TeRTet § Smifora fosar mar ur?



1. 2015
2.2016
3.2017

4,.2014

Correct Answer :-

« 2016
15) The Rewa-Panna Plateau is also known as the i/ Sar-yAT R
3| & A A Wt ST ST 2l

1. Vindhyan plateau/ fder ®1 R
2. Bhander plateau/ H<aX UoR
3. Satpura plateau/ d4RT UoR

4. Malwa plateau/ ATl UOR

Correct Answer :-

« Vindhyan plateau/ fder ®1 R

16) Right to Information Act was notified on:/ Ja-1 &T ISR g &t wa

Sifergfra fovar mar?

1. None of these/3H J BIs g

2. 15th June, 2005/15 S, 2005

3. 1st November, 2000/1 FdsR, 2000

4. 26th January, 2010/26 SHd<t, 2010

Correct Answer :-
« 15th June, 2005/15 -, 2005

17) For which of the following is the ‘Vishwamitra Award’ of Madhya Pradesh

given?/ AeOueR &1 'yt er' Fafafaa 9 #19- @ ax # fear srar 32
1. Best performance in sports/ @Hﬁﬂéﬂgw

2. Coaches for serving sports/ 9d W & [T &I

3. Highest award for Literature / W & foTg Yaied TRIBR

4. Social work related activities / ITATS® BT et iafafaray

Correct Answer :-



« Coaches for serving sports/ ¥d Wa- & o i

18) Madhya Pradesh is the largest producer of in the country/d¥9
USSA__ HT YA I1 IUTSH &2

1. None of these/‘a’ﬂﬁﬁaﬂ"&f:fépf

2. Sugarcane/Tdl

3. Oilseeds/fadg

4. Rice/dIdd

Correct Answer :-

. Oilseeds/ﬁl?l"s’:r

19) Madhya Pradesh’s Heritage Walk of won the Best Heritage Walk
Award at the National Tourism Award in 2016./?%@%3@%

7 2016 # AP T [REPR A 9 3R TP HT PR S|
1. Khajuraho/‘@ﬁ?@
2. Amarkantak/ 3 Rdbcdh
3. Bhopal/ﬂ-ﬁfﬂﬁ
4. Mandu/HTg

Correct Answer :-

. Bhopal/ﬂ-ﬁtﬂﬁ

20) became an important city in medieval times owing to
flourishing trade between Delhi and Gujarat. Which city of present Madhya
Pradesh is being talked about here?/ et 3R ToRTd & §9 TS ATUR & HRUT
A Iug o TS HEdYUl X1GR a1 7T YT | T AT e U= & foh IR &
IR § 919 B AL 82

1. Sironj/ RIS
2. Katni/ FHeAr

3. Hoshangabad/ BTG
4. Bhopal/ Hiard

Correct Answer :-

« Sironj/ RRIS



Topic:- General Hindi

1) WRE-TATA Tqgadl Pt pid &

1. 3UADH
2. feraRfioft
3. WIfd B

4. DPpH

Correct Answer :-

2) TR U 3T AU & I Tt & WISH-UT-t BT Uy HIP- IR @ :
1. ARREH a1

2. SBAS A

3. fayrTarIs ar

4. Ghdrde are

Correct Answer :-



4, 3ad gHI

Correct Answer :-

. 3ad gt

6) T’ Xeq T A T B :
1. %G

2. TR &1 Ja% §R

3. fsT

4. TR SIT U STaoiq

Correct Answer :-

. TR HT YA gR

8) ‘PBI-Pal Sl APl ATGHI - AT @ :
1. RFAIYPH T



2. [a g ga® A

3. fafeRgEe <=
4. BRU-BR Y G

Correct Answer :-

« WSS GG

9) BTY IST 46T YETaX BT A B :
1. {5t & AR ST
2. forelt T8 A ggrIdT 31 &g B

3. 3ad g4t
4. ST B T

Correct Answer :-

. Jad gl

Correct Answer :-

11) ‘&fre &1 faaw 3 &:
1. I

2. ]MyA

3. fa=mma

4.9

Correct Answer :-

« RMYd



12) “YUUT Yd A1 fagg TRA &, Tl-1¢ d¢ AR & I0d g'- UfRI H 3 :
1. 3Afad PR

2. TgIfad fAPR

3. TQIY 3ABR

4. 3N PR

Correct Answer :-

13) ‘Stenotypist’ PT & mfvuite s % :
CININIEED

2. SIR[SIJdIqdh

3. JTR[CID

4. ATYEDH D

Correct Answer :-

14) Hpuite’ o # el oM areft wa Sielt 8
1. fargt
2. gaet
3. et
4. AT

Correct Answer :-

15) WEAUGRT A YHTIRIG Hifef® UAST1 8 :
1. Hitgar

2. IISTHTST HRll

3. 31U

4, g AT

Correct Answer :-



4. TfgEdt Y o sicfa

Correct Answer :-

. fogrdt Rl & siarfa

17) Fafafeq o fiaw sreg-gm 18 2 -
1. HYI-aTd!

2. Yyu-fa g

3. afg-gfera

4. 3Td-favad

Correct Answer :-

. YTl

18) Fafrfa i g a2

1. THM Mg 4R T 78 WeR et TR
2. 98 gde1-gHId 87 3|

3. %G1 A B T8l B |

4. 8 WU BT SHTEAU-UA ¢ |

Correct Answer :-

. TE gHe-gHIad &7 31

19) Fuffea A s s @ :

1. Hd
2. ddfoIfer

3.



4. ST

Correct Answer :-

20) fgferiea & quretya Rl Te-gm 76 8 :
1. fR-¢R

2. foR-fAgik

3. Fafa-Aa

4. T2Y-J3Y
Correct Answer :-

. dR-gR

Topic:- General Maths

1) DIRECTIONS: Find the wrong term in the given number series: /& iﬁEﬁ
HEIT 4UTt H e UE {1 B |

7,11,18, 35,67, 131, 259

1.35

2.131

3. 11

4.18

Correct Answer :-

« 131

2) Find the area of a rhombus one of whose diagonals measures 8 cm and

the other 10 cm./ 39 GHAGY T &TEA T PIoIC forads fawui o1 ATg 8 |t quT
10 It 3

1. 80 cm?2/80 JHt2

2.48 cm2/48 JHI2

3. 40 cm?2/40 912

4. 36 cm?/36 912



Correct Answer :-

« 40 cm?/40 3H12

3) The length of a rectangle is increased by 50%. By what % should the
width be decreased to maintain the same area?/ U& 3TUId &1 d+Ts B! 50%

g1 feur oirar 8, 9 99 &awd & fore st dieTE &) fhaqa ufawrd &9 & aifge?
1. 25%

1
37-
2. 29

332
3. 3%,

1
33
4, 120

Correct Answer :-

1
. 335%

4) The roots of the quadratic equation p2+5p+6=0 are: /fG8Td FHHUT p2+5p+6=0
& T &

1.3,2
2.-3, 2
3.-3, -2

4.3, -2

5) If the square of the sum of two numbers is equal to 4 times of their
product, then the ratio of these numbers is:/uﬁfrmsﬁ%!ﬁﬂ?ﬂaﬁ, 3P

UG BT 4 TAT &1 al, I IS BT ST fHa-1 ghm?
1.1:3
2.1:2
3.5:1

4,1:1

Correct Answer :-



6) The average of 12 numbers is 9. If each number is multiplied by 2 and
added to 3, the average of the new set of numbers is:/ 12 TB13{f &T 3NTd 9 B
i TP BT Y 2 A UM foraT 91T SR W 3 SIST oY, df WeMsil & ¢ 9=y &7 $had
FIT G2

1.9
2.21
3.27

4. 18

Correct Answer :-

7) DIRECTIONS: What should come in place of the question mark (?) in the
following series?/fd3r: Fafafad ot & uyares fog (2) & WM =TT 3T A1fge?

1,9, 25,7, 81
1. 64
2. 36
3.49

4. 28

Correct Answer :-

8) A man walking at 3 km/hour crosses a square field diagonally in 2
minutes. The area of the field (in square meter) is:/ 3 et/ ger &1 wfa & weq
11 U i [Pl qTpR ASH &1 fapuid: 2 e # R &% dd1 81 A &1 &% d @
Hiex #) fpan g2

1. 6000
2. 5000
3.2500
4. 3000

Correct Answer :-

« 5000



If 1 is added to the numerator of a fraction, the fraction becomes 1. If 1 is
1
added to denominator, the fraction becomes :. The fraction is:/ gfe 1 ﬁt{ﬁ
1

e & 3i<r o SireT oImd ) fue 1 Y SiTaT @ 9uT afe 1 Y fire & g3 A siteT o ot f4 4 2 g siran
| qa i g:

2
3
1
3
3
4

1
4.2

Correct Answer :-

10) Four bells ring at intervals of 4, 6, 8 and 14 seconds. They start ringing
simultaneously at 12.00 o’clock. After what time will they again ring

together?/ IR Hfedl & To1 &7 3T 4, 6, 8 3R 14 AHvs 13 T 12.00 To T
1Y T IR a1 8, a fpaa wwa a1 3 9t Shar ue Ty sorfi?

1. 3 minutes 44 second/3 e 44 Y&HUs
2. 3 minutes 20 second/3 e 20 Y&HUs
3. 3 minutes/3 e

4. 2 minutes 48 second/2 fc 48 YhUg

Correct Answer :-

« 2 minutes 48 second/2 fie 48 YU

11) The ratio of the father’s ages to the son’s age is 4:1 and the product of
their ages is 196. What will be the ratio of their ages after 5 years?/ﬁ?lTQT:i

T DI 3T BT U 4:1 8 TF 3T 3 BT UMD 196 g1 5 9 91g, 3P 3 BT 3JuTd
T G2

1.12:4
2.12:3
3.11:3

4.11:4

Correct Answer :-



12) Two pipes A and B can fill a tank with water in 30 minutes and 45
minutes respectively. The water pipe C can empty the tank in 36 minutes.
First A and B are opened. After 12 minutes C is opened. Total time (in
minutes) in which the tank will be filled up is: /I USU A 3R B U & P HHI:
30 fiFe 3 45 e # YR G&d 81 UTSU C S ¢ &1 36 e A @elt e 9dar g1 Tgd A
3R B &) @ ot @ fhR 12 e 91 ¢ &) @iar wrar 81 & o fhaa gwa (e @) o
YAM?

1. 30
2. 36
3.18

4.24

Correct Answer :-

13) 9

Simple interest on a certain sum for 6 years is 2> of the sum. The rate of
9

interest is: /fHt TR TR 6 auT F RIg AR =TS AL BT 25 3| AW F R T
1. 6%

2. 8%

1

3. 62%
1

4, 82%

Correct Answer :-

s 6%

14) What should come in place of the question mark (?) in the following
question?/ fAAfefEd u=a # yxAar® [ (2) & RIF W= F1 3171 91fge?

1701 + 4011 - 3624 - 1113 =?
1. 865
2.975
3. 965
4. 875



Correct Answer :-

« 975

15) The speed of a boat in still water is 6 kmph and the speed of the stream
is 1.5 kmph. A man rows to a place at a distance of 22.5 km and comes back
to the starting point. The total time taken by him is:/T® F1d ! RR @A 1A 6
it wfr det @ ofik umT @1 ifqy 1.5 o5t wf weT 31 ver afad 22.5 f5d 9l g Rt =
TR BT B T HR A 7T 3§ 3R ARFUF g W Aoy 31am 8 1 ST gRT foran 1 o 99y 3

1. 10 hours/10 ¢
2.4 hours /4Ei%
3.6 hours /6 ©c
4. 8 hours /8’€i%

Correct Answer :-
« 8 hours /8 e

16) A man buys two horses for Rs.1350. He sells one as to loss 6% and the
other so as to gain 7.5%. On the whole he neither gains nor loses. What
does each horse cost (in Rs.)?/ U 3fad &l 1S 1350 3. H @WIed 81 98 TP B 6%
B I IR 3R G B 7.5% & A1H W 91 31 T UR 7 df 3/ AT g1 8 7 g1 | dt vl
g &1 49 g4 (3. ) gHm?

1. 650, 700
2. 600, 750
3. 500, 850
4,610, 740

Correct Answer :-
« 600, 750

17) If A, B and C can complete a work in 6 days together. If A can work twice
faster than B and thrice faster than C, then the number of days in which C
alone can complete the work is:/ A, B 3R C T I1Y {5l &1 &Y 6 fe & @rr v
IPHd 819 A, B T T ao A &R ¢ F far doft A &1d % apar 8, @ ¢ vt 39 H1d &l
o fo=i o T e wpar 32

1. 44 days/44 fea
2.11 days/11 f&a
3. 33 days/33 faA



4.22 days/22 f&A

Correct Answer :-

. 33 days/33f&a

18) If M% of x is y and N% of y is x then:/ gfe x FTM% Y %&ﬁ'\’y DI N% Xx %,
dd-

=
22 2=

Il

'—L

o

o

2. 100

3. MN = 10000

4. M+ N =100

Correct Answer :-

« MN = 10000

19) Find the smallest of the following fractions./fAuferfad A # § a9 a1d
=T 91a B9

E
1,17

25

2. 12

52
3. 25
49
4, 24

Correct Answer :-

49
o 24

20) Find the largest among the following fraction./ fFafufaa fiel # & a9 7
= g B3

1011

1. 1597

334
5 537



74
3. 151

167
4 426

Correct Answer :-

1011
o 1597



